


- 2
= x93 -
Lﬁ@ Sub/QAM&-/gkk effech>

NSt

F‘/"‘LTJUI\

\/ - AXx
z: 3
repmn 2
** é‘f/ 3\)/ (1,9),2,7),(5,2).0619) .3

/‘Vl M

OO0

y(&) = \}F)?
>0

(u«c[wﬂ N
SufRETR_or A2 b N
(V’AVW\OV;Y\ - /\0“4?& TOra\

Scr O% Vq’lﬁJ VS?A as /WQ‘)T

#(Mér x)
\

(0 dc)ma,v\
Ser oF vley used 4> I}

19\“1/\7c,

ser of vale w\\y priad

M‘/ﬂ < CO 'c\dMUW\

(0,0, (1) (42, (%3)

Lal|l dman flen work

Pirm . Sun b et b7k



. . SN S 5 (W)ﬂu&u(&
Sufjedse o7 injectia Low-l e
cwein (0-bm )V e ion
)
- Jorl
- Sof)echn

Vx,y eD CX#y D /l(xbf@) ~ njectin
[(\():)\1




Svr)eeyw

/V!)P(T)\/

nel 1l




flup,e)
hl ( U ) /W\w\b @ O
ele 7l C @/\S @

/A

Aa/vwm \ ngszQ xC
(Ao = BUC
7 \

bma, [ <]/
é((o,o), O>/ ((d,l),})/ ((./,)/3)}



